


PWB-80 vs OEM

PWB-80 PRIMARY DRIVE PULLEY

Item # Part # Description Qty SEK Unit price SEK Total

10 1130-3003 Block 3 177,00 531,00

4 1151-1116 Clutch spring 1 430,00 430.00

Total 961.00

Suggested parts to be replaced if needed at 50,000 km

Are you tired of the high annual costs associated with clutch parts
maintenance? Consider purchasing a Umatek-Cvtech PWB-80 and
eliminate those expenses for a minimum of 50,000 kilometers of
worry-free riding.



Item # Part # Description Qty SEK Unit price SEK Total

2a 417222758 Bushing 1 289,00 289,00

2b 293370037 Circlip 1 40,25 40,25

8 417224085  Clutch spring / Engine 900 ACE 1 209,00 209,00

6 417223650 Spring Cover Ass'y 1 540,00 540,00

14 417223919 Slider Shoe 12 87,00 1044,00

12 417223257 Roller Axle 6 83,00 498,00

11 417224081 Roller | Engine 900 ACE 6 249,00 1494,00

13 293300185 O-Ring 3 12.00 36.00

15 417224103 Ramp 749 | Engine 900 ACE 6 490,00 2940,00

4 417223694 Ramp Axle 6 149,00 894,00

3 417223660 Stopper Washer 12 96,00 1152,00

5 417224336 Nut-Stop Elastic DIN.985 6 10,00 60,00

Total 9196,25

PWB-80 vs OEM

OEM E-Drive PRIMARY DRIVE PULLEY
SKI-DOO 2018 Pulley EXPEDITION 900 ACE SERIES



Item # Part # Description Qty SEK Unit price SEK Total

10k 414817700 Spring, Blue/green 1 590,00 590,00

10m1 417009204 Bushing 2 219,00 438,00

10y 417223271 Slider Shoe 6 101,00 606,00

10x 732401030 O-Ring 6 11,88 71,28

10w 233261414 Hex. Flange Elastic Nut M6 x 1.0 3 18,80 56,40

10v 417005600 Washer 3 54,91 164,73

10s 250400050 Spring Pin M10 X 22 3 40,03 120,09

10r 417222546 Ramp 414 3 490,00 1470,00

10u 417223501 Calibration Screw 3 169,00 507,00

10c 417222671 Lever 3 590,00 1770,00

10h 417223164 Lever Axle 3 53,29 1152,00

10g 250400060 Cotter Pin 3 25,13 75,39

10f 417222594 Pin 3 189,00 567,00

10e 417004302 Stopper Washer 6 199,00 1194,00

10d 417222947 Roller 3 259,00 777,00

Total 8566,76

PWB-80 vs OEM

OEM TRA PRIMARY DRIVE PULLEY
SKI-DOO 2018 Pulley Renegade 800R E-TEC SERIES



Item # Part # Description Qty SEK Unit price SEK Total

10u 417224330 Clutch spring 1 339.00 339.00

10t 250000763 Torx Truss M/S M5 X 14 S.Grip 3 28.40 85.20

10s 417224868 Thrust Washer 6 29.56 177.36

10q 417224947 Roller Pulley Ass'y 3 440.00 1320.00

10r 417224204 Axle - 10mm 3 129.00 387.00

10g 293250389 Bushing 2 279.00 558.00

10n 250400101 Spring Pin 2.6MM X 20.5MM 6 13.96 83.76

10m 417224510 Pin 3 129.00 387.00

10k 417224916 Pulley Roller Ext 3 390.00 1170.00

10j 417224153 Back Torque Roller 3 219.00 657.00

10x 417224290 Ramp 880 Ass'y 3 390.00 1170.00

10y 417224694 Pin Ramp 3 129.00 387.00

10z 250000763 Torx Truss M/S M5 X 14 S.Grip 3 28.40 85.20

Total 6806.52

PWB-80 vs OEM

OEM P- Drive PRIMARY DRIVE PULLEY
SKI-DOO 2020 Pulley Grand Touring 900 ACE Turbo SERIES



PWB-80 vs OEM

OEM MAINTENANCE SCHEDULE
Reference:  2018 Operator’s Guide Expedition Serie / Part number 118960EN

900 ACE models
EVERY 6000 KM (4,000 MI) OR 2 YEARS (WHICHEVER COMES FIRST)

  Inspect drive pulley slider shoes and ramps and replace if needed
Replace drive pulley O-rings

UMATEK-CVTECH PWB-80
MAINTENANCE SCHEDULE

The CVTech Variable-Speed Drive requires no
lubrication. It is designed to run dry. It is

recommended to make a visual check of the
CVT at 3000 miles (5000 km).

Covered with a 2 years warranty

800E-TEC models
 EVERY 6000 KM (4,000 MI) OR 2 YEARS (WHICHEVER COMES FIRST) Replace the

following drive pulley wear parts: slider shoes, O-rings and sliding sheave bushing
EVERY 10000 KM(6,000 MI) OR 3 YEARS (WHICHEVER COMES FIRST) Replace the

following drive pulley wear parts: spring cover bushing and ramps

Are you tired of the high annual costs associated with clutch parts
maintenance? Consider purchasing a Umatek-Cvtech PWB-80 and
eliminate those expenses for a minimum of 50,000 kilometers of worry-
free riding.



UMATEK - CVTECH PWB-80
 at 90,000 km



UMATEK - CVTECH PWB-80
 at 90,000 km


